- Math 152 - Fall 2012 - 8/31 - Quiz #1
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’ Show all work clearly and in order. Please box your answers. 10 minutes.

Score: out of 10."

1. A particle is moving on a straight line with acceleration a(t) = 2sin(t) 4+ 3. Its velocity at t = 0 is
v(0) = 0 and its position at time ¢ = 0 is s(0) = 10.

(a) Find the velocity function of the particle:
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(b) Find the velocity of the particle at ¢ = 1. v(1) = \*—— 2ccs() + 5 { oRr \'k3 Aty !

(¢) Find the position function of the particle:
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(d) Find the position of the particle at t = 1. s(1) = -ZSM(\)—k%'\—?_-HO = [-2em)+ S5 % 612



